                                                                       Составитель: доцент Морозова Е. Н.

Задания для контрольных работ по дисциплине 
«Иностранный язык» 

 Студенты должны выполнить один из трех вариантов в соответствии с последней цифрой шифра студенческого билета: студенты, шифр которых оканчивается на 1, 2, 3, выполняют вариант 1; на 4, 5, 6 – вариант 2; на 7, 8, 9 и 0 – вариант 3.
Контрольная работа №3
Для того чтобы правильно выполнить работу № 3, необходимо изучить следующие разделы курса английской грамматики:

1. Времена действительного залога и страдательного залога (Active Voice, Passive Voice): Indefinite (Present, Past, Future); Continious (Present, Past, Future); Perfect (Present, Past, Future). Правила их образования и употребления. Способы их перевода на русский язык.

2. Неличные формы глагола (причастие, инфинитив).

3. Модальные глаголы и их эквиваленты.

4. Условные предложения.

Вариант 1

Задание 1. Перепишите следующие предложения, подчеркните в каждом из них глагол сказуемое и определите его видовременную форму, залог и укажите их инфинитив. Переведите предложения на русский язык.

Выполните по образцу:

	The letter has been written.
	Письмо написано.


has been written – Present Perfect, Passive Voice

инфинитив – to have been  written
1. Our countries are cooperating in solving major scientific problems.
2. We have improved the quality of most of our products and we hope to attract new buyers.
3. The scientist was asked about his publications.
4. All the obligations under the contract will be full filled in time.
5. Much attention is also being paid to developing countries.

Задание 2. Перепишите следующие предложения, подчеркните Participle 1 и Participle II и установите функции каждого из них, т.е. укажите, является ли оно определением, обстоятельством или частью глагола-сказуемого. Переведите предложения на русский язык.
Выполните по образцу:

	I have been studying at the University for 2 years.
	Я учусь в университете уже 2 года (Participle I, часть глагола-сказуемого)


1. All the engineers working at this company must know foreign languages.
2. You must learn all the words given on last page.
3. The boy sometimes went to sleep while watching TV.
4. The houses damaged by the fire were rebuilt within a month.
Задание 3. Перепишите следующие предложения. Подчеркните в каждом из них модальный глагол или его эквивалент. Переведите предложения на русский язык.

Выполните по образцу:
	The delegation is to arrive in April.
	Делегация должна приехать в апреле.


1 Our company can't afford to buy these machines.

2 The announcement of the conference has to be made as soon as possible.

3 You should contact someone in this company interested in our programme.

4 The agreement is to be signed by the end of the year.

Задание 4. Перепишите и письменно переведите следующие предложения, обращая внимание на функцию инфинитива.

Выполните по образцу:

	I don't like to ask questions.
	Я не люблю задавать вопросы.


1. It is necessary to improve the commodity by pattern of East-West trade.
2. To prove how reliable our methods are is not difficult at all.
3. To save their funds is the main policy of many commercial banks now.
4. The Russian - British Chamber of Commerce was the first to promote trade
between two countries.

Задание 5. Перепишите следующие предложения, определите типы условных предложений и переведите предложения на русский язык.

Выполните по образцу:

	If we are given a good discount, we'll sign the contract.
	Если нам дадут хорошую скидку, мы подпишем контракт. (1 тип условных предложений)


1.  If there were only one exchange rate, it would be easier to perform all export-import transactions.

2.  If the company fails, it will stop trading and go into liquidation.

3.  If the company had lowered the prices of hotels and restaurants earlier, perhaps this would have encouraged more visitors.

Задание 6. Прочитайте и переведите текст.
Environmental Protection in Britain.

Responsibility for pollution control rests on local and central government.
Integrated pollution control restricts emissions to air, land and water from the most
harmful processes. Recycling of waste will be a duty of local government. The
National Rivers Authorities are responsible for water pollution control. Strict controls
have reduced carbon monoxide, hydrocarbon and nitrogen oxide emissions.

    The Government is committed to the elimination of chlorofluorocarbons, which damage the ozone layer. They also contribute to the greenhouse effect, which leads to global warming and a rise in sea levels. Britain stresses the need for improvement in understanding the science of climate change.
     There are nearly 500,000 protected buildings, and 7000 conservation areas of architectural or historical interest, in Britain. The Government supports the work of the voluntary sector in preserving the national heritage. Green belts are areas land should be left open and free from urban sprawl. The Government attaches great importance to their protection. National parks cover 9 per cent of the total land area of England and Wales. Some 38 areas of outstanding natural beauty have been designated - 13 per cent of the same land area. Three regional parks and 40 national scenic areas cover 13 cent of Scotland. Care is taken to control development on parts of the coastline.
Вариант 2

Задание 1.Перепишите следующие предложения, подчеркните в каждом из них глагол сказуемое и определите его видовременную форму, залог и укажите их инфинитив. Переведите предложения на русский язык.

1. Выполните по образцу:

	The letter has been written.
	Письмо написано.


has been written – Present Perfect, Passive Voice

         инфинитив – to have been  written
1.  Britain has adopted a phased programme of reductions in air pollution.
2.  Coal fires are not allowed in London.
3. A lot of pollution comes from cars, so let's hope, that electric cars, will be widely used in future.
4. Much noise pollution has been caused by traffic and aircraft.
5. The new enterprises in many countries have been export-oriented especially towards the developed industrial countries.
Задание 2. Перепишите следующие предложения, подчеркните Participle 1 и Participle II и установите функции каждого из них, т.е. укажите, является ли оно определением, обстоятельством или частью глагола-сказуемого. Переведите предложения на русский язык.
Выполните по образцу:
	I have been studying at the University for 2 years.
	Я учусь в университете уже 2 года (Participle I, часть глагола-сказуемого)


1. The city has houses representing various architectural styles.
2. The questions discussed at the meeting were very important.
3. While introducing her guests to each other the hostess says a few kind words to each of them.
4. The experiment was made according to the model worked out by the institute        computer centre.

Задание 3. Перепишите следующие предложения. Подчеркните в каждом из них модальный глагол или его эквивалент. Переведите предложения на русский язык.
Выполните по образцу:
	The delegation is to arrive in April.
	Делегация должна приехать в апреле.


1. The shareholders must appoint a director.

2. Prices are to regulate production and consumption in a market economy.

3. The Sales Manager shouldn't sign the contract before he studies all the documents carefully.

4. The company couldn't make a reduction in price but it had to deliver the equipment in shortest time.

Задание 4. Перепишите и письменно переведите следующие предложения, обращая внимание на функцию инфинитива.
Выполните по образцу:

	I don't like to ask questions.
	Я не люблю задавать вопросы.


1. It is necessary to take urgent measures not to leave a dirty planet to future
generations.

2.  He was the first to solve this problem.
3.  Our idea was to participate in one of the seminars on environmental problems.
4. Not to damage, if not to destroy altogether, life on our planet we must take some radical steps.

Задание 5. Перепишите следующие предложения, определите типы условных предложений и переведите предложения на русский язык. 
Выполните по образцу:

	If we are given a good discount, we'll sign the contract.
	Если нам дадут хорошую скидку, мы подпишем контракт. (1 тип условных предложений)


1. If scientists use the new method of research, they will have better results. 

2. It would be impossible to raise the output, if they didn't install the new equipment. 

3. If you had answered all questions in the competition you would have won the first prize.   

 Задание 6. Прочитайте и переведите текст.
Gross Domestic Product.

     Gross Domestic Product or GDP can be defined as the amount of money a country makes from goods and services inside the country for a certain period of time, usually for a year.
      In the United Kingdom the following sectors of economy are usually analysed: manufacturing, services (financial, professional and scientific services, leisure and tourism), energy (oil, natural gas, coal) and agriculture. In the United States the following sectors of economy are usually analysed when the GDP is defined: construction and manufacturing; trade and finance; transport, communication and services; agriculture; and mining.

   Speaking as an example, about one of the recent year's GDP figures, the following can be quoted:

In the U.K. the services sector accounted for roughly 60 per cent of Gross Domestic Product. Manufacturing sector accounted for a small percentage of gross domestic product. Energy production sector accounted for about 8 per cent of GDP. Agriculture -only for 4 per cent of GDP. But the agricultural sector satisfies two-thirds of the country's needs. And only a small fraction of the total population, about 2 per cent, is engaged in agriculture.

 In the U.S.A. the construction and manufacturing sector accounted for 40 per cent of GDP; trade and finance earned 25 per cent of GDP; transport, communication and services sector earned 20 per cent of GDP; agriculture and mining earned 5 per cent of GDP. By the way 10 per cent of the employed population of the United States is engaged in agriculture.

Вариант 3

Задание 1.  Перепишите следующие предложения, подчеркните в каждом из них глагол сказуемое и определите его видовременную форму, залог и укажите их инфинитив. Переведите предложения на русский язык.
1. Выполните по образцу:

	The letter has been written.
	Письмо написано.


2. has been written – Present Perfect, Passive Voice
3. инфинитив – to have been  written
4. Our University is successfully solving many complex scientific problems.
2. All the members of the Council have outlined the measures for further cooperation in the field of production, science and technology.
3. Our counterparts have just been shown round the factory.
4. All spheres of life will be represented at the exhibition    
5. Their imports of up-to-date equipment, services, etc. will grow more rapidly than it was expected.
Задание 2. Перепишите следующие предложения, подчеркните Participle 1 и Participle II и установите функции каждого из них, т.е. укажите, является ли оно определением, обстоятельством или частью глагола-сказуемого. Переведите предложения на русский язык.
Выполните по образцу:

	I have been studying at the University for 2 years.
	Я учусь в университете уже 2 года (Participle I, часть глагола-сказуемого)


1. Now in the Russian Far East there are many foreign firms specializing in tourism, commercial aviation and international trade.

2. This issue was debated once more and again without success.
3. While running, the sportsman tried to breathe regularly.
4. The required book will be sent tomorrow.

Задание 3. Перепишите следующие предложения. Подчеркните в каждом из них модальный глагол или его эквивалент. Переведите предложения на русский язык.
Выполните по образцу:
	The delegation is to arrive in April.
	Делегация должна приехать в апреле.


1. The project can be financed by several companies.
2. All the workers operating the new equipment have to read the instruction very carefully and follow them.
3. You should arrange a visit to a factory where they have just installed some new mashines.
4. Such documents are to be signed by general Director.
Задание 4. Перепишите и письменно переведите следующие предложения, обращая внимание на функцию инфинитива.
Выполните по образцу:

	I don't like to ask questions.
	Я не люблю задавать вопросы.


1. He was the first to prove it.

2. It is necessary to use the latest means of control in industry.
3. To understand the importance of this event you should know all the facts.
4. To create an abundance of goods is the task of economy.

Задание 5. Перепишите следующие предложения, определите типы условных предложений и переведите предложения на русский язык. 
Выполните по образцу:

	If we are given a good discount, we'll sign the contract.
	Если нам дадут хорошую скидку, мы подпишем контракт. (1 тип условных предложений)


1. If she had more experience, she would accept her friend's offer to join her as a partner in a new business venture.

2. If this method is good enough the reliable results will be achieved.
3. If the workshop had been arranged in a proper way, everybody would have got an opportunity to participate in it.
Задание 6. Прочитайте и переведите текст.

Foreign trade of the U.K.

     In the 19' century Britain dominated international trade, accounting for about one-third of world's exports. Early in the 20' century its position changed. The volume of world's exports increased but the percentage of British exports in world trade declined significantly.
     But still foreign trade is vital to Britain's livelihood. With a large population, small land area, and few natural resources, the country must depend on foreign trade to supply the raw materials for English factories and to provide a market for the sale of the thousands of types of manufactured goods produced by English industries.
     The United Kingdom's principal exports are vehicles machinery, manufactured goods and textiles. Her main exports are foodstaffs and most of the raw materials for industry. Britain imports half the food it needs.
      There is usually an unfavourable balance of trade, that is, imports exceed exports but this is compensated for in part by the so-called invisible trade.
        The earnings from invisible trade come in the way of shipping charges, interest payments from foreign investments, interest payments from British enterprises abroad, and tourist expenditure. The earnings from foreign tourist trade make this one of Britain's important industries.
